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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 46/0S/1-A on the answer-book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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el YIS % UBW USS UX STUAT STghHI% Had g |

FUAT UL B A W 6 YT b FA 63 qAT U9 N Al & e & R v yes
% 999 SU B ¥ | 39 91 Bl Sd W B o [ U wiw ®U H ¥ |

TEIFTs w9t | simum! A faedt (A), (B), (C) 99T (D) ® € &3 T SUX gl & qan &
T FOC-gRaw § ey wd SO fefaw |

JERITSS Al % Fg-wg G Al % X MUiia sty & Wi 8 3 § | aggiTss el
% foq ot o wHE @ fen s |

ST-giaw ¥ wean-fE 9 sgen Midw el & sl w80 W srgwaie faes
TOEl @l g SEET SR |

SO ITT-YRABT TX TS dt s dem 46/0S/1-A fag |

() WU heael TESN/SUST § ¥ | fiey o, afy e T A e Y 1 fedll we W W S
T g €

Hicll, AT, ST, U, HeH, @@pa i e |

FuAT IAC-gRAHT 7 Ry U gte W T 76 omu Rew et § s) fow w R

(@) afy g & ua oiUw & erfafia fpdt o o & SO fomad & o w9 & 93
¥ g awtl Jfeat | it w e daw st g
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2. New Syllabus is compulsory for those who have registered for 2012-13
(Block-I) admission. (Those who are appearing in April 2013 wunder
“New Syllabus”.)

3. Old Syllabus is compulsory for those who had registered before 2012-13
(Block- I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.

: ( weamt o ) ,

1. 39 U gRae W & WeAus € ¢ Uw HeNitW Hemdw wwl woendna & fw
X A W Sifthd 9T gEU €elled § UE oiemdd annll Uy onend § o™
W QA U e § |

2. O U S qlenda & fwu etvadd § R Amies 2012-13 (st 1) o
T ¥ | (S el@ 2013 H AU weRRH & ofda qden ¥ o7 W w ¥ )

3. YOI UERRE 39 UeeEl % fau sitEn ¢ feer Amies 2012-13 (@w-1) &
UEW TAM ¥ |

4. wOedl e TRy % TR kAW UH YA Hl & Tlam & |
5. qlemedl @ & U % WA bl M@H IAT & Bl RN Gl § |
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ECONOMICS NEW

(37ed9TrE)
(214)

New Syllabus / a1 T&IsEH

Time : 3 Hours] [Maximum Marks : 100
qeg ¢ 3 g ] [quif : 100
Note : (1) All questions are compulsory.

(2) Marks allotted to each question are indicated against it.
MRt ¢ (1) AW uyT et ¥

(2) UA® YT & i Iqh 9 9 ™ T
1 Which one of the following is a characteristic of goods ? 1

(A) Goods cannot be transferred.

(B) Goods can be seen and touched.

(C) There is no time gap between the production and consumption of goods.

(D) Goods cannot be stored.

Preffafs & ¥ B @ Th e B R 37

(A) TEgall @ A Tol & Hehd|

(B) Txgsll &l <@l TAT HI S Fehal 2|

(C) aggell & IR qun IuAT N w9y S| el e

(D) TGt &1 WUE Tl foan s @ehan
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2 Purchase of a cycle by a household is treated as :

(A) Capital formation (B) Production

(C) Consumption (D) Production for self consumption
T UNER R 9Eked B wT % o

(A) et Fmfor (B) e

(C) 3w (D) w@Rua & fd s

3 Rent is paid for the use of :

(A) Land (B) Labour

(C) Capital (D) Entrepreneurship
T & A 386 YA & W e s ®

(A) W (B) =

(C) sl (D) W

4 Marginal cost refers to :

(A) The cost which does not change with the change in amount of production

of a goods.
(B) The cost which changes with the change in amount of production of a good.
(C) The cost per unit of output.

(D) Increase in total cost due to increase in one extra unit of output.

qErg @ 9 o ® e

(A) 9% @F S RFE a%g @ IAET B AR § UNEdT & " uRatdd 7
TRl B

(B) 9% WFId <l Thell &g 0 Sctad & W § uiad= & 91 uiaiid gl & |
(C) SdEEH & Uid IhE «rE|
(D) IEEA ¥ TH SffdiE o @ ghe &l T Pd @G H B arell ghgl
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5 A production unit owned by a single individual is known as : 1
(A) A Partnership (B) A Private Company

(C) Sole Proprietorship (D) A Public Production Unit

U Afed & @i & IURT IS HeEdll &

(A) e B) el e
(C) Uhd @i (D) UdSIEG SAET IHE
6 Supply of a commodity refers to : 1

(A) Quantity of the commodity offered for sale at different prices
(B) Quantity of the commodity offered for sale at a given price at a given time
(C) Quantity of the commodity offered for sale per unit of time

(D) Quantity of the commodity produced by the firm
fordl oxg @t anqfd ¥ e ¥

(A) Tafg= @l ) Rel axg @ 99 ST e A

(B) ufq saE g # fafv= @M w el ag & 9 9 i A
(C) ufq @i wwg o fedl agg & & W A qmn

(D) Fpe axg @ BH F STad A
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7 A household consumes 14 kg. of sugar per week. Its average daily consumption 1

of sugar is :
(A) 2 kg B) 7 kg.
(©) 14 kg (D) 1 kg

T TER 9id adE 14 6. 71 AT @1 SUMET hIdm ¥ SET AT Rl
aga e Suw ® o

(A) 2 f&. W @) 7 f& wm
(C) 14 f&. =m (D) 1 f& .
8 Noise pollution can cause : 1
(A) Coughing (B) Typhoid
(C) Cholera (D) Hypertension

@M TEU ¥ B Ahal §

(A) @i (B) <
(€) %wm (D) w=@ YW
9 'Wants change and expand with development'. Explain with the help of an example. 2

‘rayTmarstt ¥ faem & Ty gy o fae Ean 31 Ush IeTer &l gerdl
¥ 9uERET|
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10

11

12

13

14

15

State any two reasons which give rise to economic problems. 2

fhel &7 ®RON w1 Sti@ GINTg o oni¥e FEEell @l W od ® |

A seller of oranges sells 10 kg. of oranges in a day. His total revenue from 2

these oranges is Rs. 400. What is his average revenue ?

Had 61 TH Tewhdl Ue T A 10 R W GaX SOl )OS WAl ¥ €A A
AT . 400 ¥ IG@T SNOd SN fehawm &FT P

Define implicit cost of production. Give one example of implicit cost. 2

IAET DI S TN i YR SN | SRS @I @1 U S&I8v SIrd|

How will equilibrium price of a commodity be affected if market demand 2

of the commodity is more than its supply ?

fordl axg @ dg@T DFd HY YWD BN AR ARG DI AT AN IED!
gt o et ®7

How does the support price protect the interest of farmers ? 2

qH wmd fpael % fedl @l e HE @Il &7

How is saving useful for an individual ? 2

=l & g I9q g TeR A@veEd gkl 87
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16 What is meant by an average ? 2

Aed ¥ I oaey ®7

17 Write any two main sources of water pollution. 2

A UVl % HE & YO A Ay |

18 A consumer has purchased a product valuing below Rs. 20 lakhs. He feels 2

cheated by the seller Where he can file a complaint of this product ?

e SUHERT A 20 W@ B ¥ A Y H By SAR GUST §1 g [Ishar W IUA
Y] ST AT STIHT Bl &1 9 SR & S § I8 H'l NoEd B qhdl ¢ 7

19  Distinguish between positive and normative economics. Give one example of each. 4

ESICESE || 6 I D F) 1 = A A i LA B 1o 7 e e Ex e B s e

20 How does in any two ways a developed economy differ from a developing 4

economy ?

frfaa crefemeren faem@sliia srderaren @ Rl @1 TR @ &9 9= &1 &7

21  State the law of diminishing marginal product of labour. What do we learn from 4

this law ?

g9 & WH SR Y U9 h Sti@ HiN| 39 MOW ¥ o'W R giEd £ 7
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22

23

24

25

26

What is meant by 'market' in economics ? State important features of a market. 4

HITA § IO ¥ N AYE T? IR @ qed fagaren & Iw@ i |

How do banks create credit ? Explain with the help of a numerical example. 4

d% 9@ H GO HY B &7 UH GCATHE S0 H GEEA § TR |

State any four demerits of 'barter system of exchange'. 4

Ty fabma goel % fRRl AR S @ S wig |

What are data ? State any three important features of data. 4

ofichs FT B 27 AibSl @ fral AW geT fa9vaiel @ SwE Hig |

The following table shows wages of workers. Calculate arithmetic mean : 4
Wages (Rs) : 10-20 | 20-30 | 30-40 | 40-50 | 50-60
No. of Workers 8 9 12 11 6

frrafafaa aifoll & gfiel @ 959l &1 s T %) g9 W T S

g (8. 10-20 | 20-30 | 30-40| 40-50 | 50-60
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27

28

29

30

31

Distinguish between primary and secondary data. Write any two sources of 4

secondary data.

el qen fadae stieel ¥ 9e wiwg) fadee stiwst & @ 2 o fWiag)

State in any four ways the importance of international trade. 4

Pl 91 YR € SIdg AR @l HEd 9diEU|

What is meant by famine ? Give any two reasons for occurrence of famines 4

during British rule in India.

‘ApTd ¥ T AT 7 SUS 9TEY % RN WRA N ol U b @ls o
HROT ST |

Distinguish between renewable and non-renewable resources. Give two examples 4
of each.

TAHNE Tl -y SEal § 9 DISY| YAE b S- I faiay |
How is demand for a commodity affected by : 6

(1) Increase in price of related goods

(i) Decrease in income of the buyer ?
() dEg IME @ B Fe 9
(i) RN & ™ BT BH 9

I B AN B B TE D AT Bl 67
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32 Explain in any three ways the role of primary sector in Indian economy. 6

TRAT sreferaen & woles &5 & i Rl 99 Ter ¥ TR

33 Explain any three steps taken by the government to achieve higher economic 6

growth in India.

aa o 3= oi¥e €gfg U e & (W0 TaR B0 Io” T RS AW sl
@ AT BT

34 Explain any three responsibilities of a consumer. 6

IUIRT b fRel AN IOREE 9HHET|
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ECONOMICS OLD

(37ed9TrE)
(214)

Old Syllabus / JUAT 9T&rRA

Time : 3 Hours] [Maximum Marks : 100
g ¢ 3 "] [quie : 100
Note : (1) All questions are compulsory.
(2) Marks allotted to each question are indicated against it.
(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.
MRt ¢ (1) AW uyT et ¥
(2) UA® YT & i Iqh 9 9 ™ T
(3) TR U HAH 1 ¥ 8 Ih, UAH ULT H X dHiewd IaX (A), (B),
(C) 3k (D) f@ ™ % v & wa @&l o1 wailys shad § | &2 s g
JAT AU IA-GRABT W I U HAG & 9w @y |
1 Roads are an example of : 1
(A) Collective wants (B) Individual wants
(C) Natural wants (D) Non-economic wants
gsh IS I/EW E
(A) Ui STETBATS (B) AR SE9Thdd
(C) ViHfa®h STATHATY (D) Tx-onie smasTdmdd
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2 Which out of the following factors of production is a free gift of nature ? 1
(A) Capital (B) Labour
(C) Land (D) Entrepreneurship

frfafed SoeT & @eal & @9 @ UHa w1 ges U § 7

(A) ool B) =™
©) (D)
3 Distribution of goods and services is : 1

(A) Bringing together the four factors of production.
(B) Making of goods and services available to the consumer in the society.
(C) Bearing the risk involved in organising the production unit.

(D) Creation of utility in making of a good.
g oY damett @ faawer B ¥ o

(A) SAEA & O FIEAT B G A

(B) axgall oiiX wamell & @l H IuHGell @ U Bl
(C) SUREA 3HE & dTed & A MREa Sifew & T8 &

(D) Tl oy & Fwior § SuAifen &1 s &l
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4 Total savings are equal to :
(A) Private Savings + Public Savings
(B) Household Savings + Firms Savings
(C) Personal Disposable Income — Consumption Expenditure

(D) Personal Savings + Government's Savings

TIY ¥9G 9% SUET Bl ©

(A) Tl sgq + gEwNe S9d

(B) U@l & ¥ad + WAl @l I9d
(C) Jufemer yavg o™ — SUNTT =99

(D) Jafeed od + @R g9d

5 Policy which provides cash at periodical intervals during the period of the

policy and guarantees full protection throughout the period is known as :
(A) Endowment Policy (B) Joint Life Policy

(C) Money Back Policy (D) Whole Life Policy

ufeEl, st ol ety § ffiem ooml W oW Suesy ®Oal § qe U
oAty I grem el A 7, wEAwl ©

(A) gty S (B) wgE qm T

(C) o= amudr urfesl (D) i SiET wifas dm
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6 Which problem is related to the distribution of National Income in an economy ? 1
(A) What goods shall be produced and in what quantity ?
(B) How shall the goods be produced ?
(C) For whom shall goods be produced ?

(D) None of the above

T ¥ B W ETE el ¥ U 0 % §ER ¥ gEred &7
(A) &N W axgstl @ BT Amel W Swed s e

(B) a&I3 H IAET HY B Y

(C) Tcames fpges T &Fm?

(D) Sugad ¥ ¥ wig T

7 An economy in which agricultural sector occupies a major place is called : 1
(A) Planned Economy (B) Agrarian Economy
(C) Developing Economy (D) Mixed Economy

udT ereferaren ReE N &% # eI WH A ¥, FHEAW T
(A) SR sreferawen (B) B wum arefemen

(C) Taemasia sreferawan (D) Tl sreferawen
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8 When goods and services are bought by Households for satisfying their wants, 1

the objective of buying is :
(A) Production (B) Exchange

(C) Consumption (D) None of the above

STE gl ofik Watell @ UNERl B UMl AEsIHAS Dbl Ggte b ol
TAST @1 7 Al WG BN Iged BT B O

(A) SR (B) fafva
(C) IUWAT (D) vwad ¥ 9 &3 &
9 If you were the owner of an airline, say Jet Airways, then the airplane would be 2

your desire or want ? Explain.

gfe o fepdl TaE AT & Wl B, 9 T ST sa1s ®E, o g9 SEN ST
T EAT STIAT ST ¢ THSRY |

10  What is meant by consumption ? Is it essential for production ? 2

IO Y R YT TP T TE SUET b Y oTEydd ol & 7

11  Give any two points of distinction between goods and services. 2

qegl SR Hatell W @ A A= fAfed |
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12

13

14

15

16

17
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Mention any two reasons for increasing production.

AR ghe & fREl & dROT @1 SwE s |

What is the role of the structure of the market in distribution of goods and services ?

Tl ST Fatell % faaRer § IR @l @ @ R’ qie & °

"Inequalities in income and wealth result in wide differences in the standard of living".

Justify this statement.

‘AT AR T W fawHare & wRT @R SiaT WX W WK eTX o i & 1
9 BT HT ST g Bt

How in any two ways do sellers play an important part in our life ?

fasran = Siem # Bl & dliel @ WREyu e Y e HId 8 7

Why do people save ? Give any two reasons.

W gad R BT € 7 RIs S BT Qe |

Give any two main characteristics of a capitalist economy.

USiarel srefemeran @ @ 1 ged fqead ST



18

19

20

21

22

Why are developing countries sometimes called poor countries ? 2

femmaslier <9 @ ®W-&W T <9 T BT ST B 7

How does the interdependence of wants give way to the interdependence of 4

human beings ? Explain.

FTETRAre ® TR MERar amar ® iR MR hE a9l ¥ gusiEd

Define Land. Mention any three characteristics of Land. 4

g @ i fafed ) qft @ R dm fastaael @ Sww @it |

(a) If a sales tax of 10% is imposed on a given goods, what will be its impact 2+2
on the price of this goods ? Explain.
(b) If government gives a subsidy of 5% on the production of a given goods,
what will be its impact on the price of this goods ? Explain.
() A T & T axg W 10% el & @ e S ¥, d@r g"en
39 IR B HET X R YTE TS gHHEd |
(b) T fpEt & 5 9% F IART W WHER 5% e germar <l 8,
Al SHET 3@ TG D DA T FT YGE TS G |
Explain how future income can be a means of buying goods and services. 4

AR, AT & AT TGE T A1 Sl GASH BN AET HE o Gohdll © 7
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23  What role banks play in the economic life of a country ? Explain. 4

el a1 & oo Sew H S o R oE HA T 7 AEHEY |

24  Distinguish between a capitalist and socialist economy on the basis of the 4

following features :
(a) Property
(b) Class conflict

frrafaiaa fasiuamell & oM W dSiaEl qo TRl seeeen § 98 I

(a) @A
(b) =t He
25  Explain 'Institutional framework' of the Indian economy. 4

TR AdaReT & G 93 &l ATl s |

26 How are the primary sector, secondary sector and tertiary sector of the 4

Indian economy mutually interdependant ? Explain.

ARAE AT & WARHs a5, [EdEs o adl gas &ed T &Y
sty 7 avsmsy )
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27 Find out the Natural Growth Rate in India for the following decades : 4

Year Birth Rate | Death Rate | Natural Growth Rate
1901 49.2 42.6 -
1911 48.1 472 -
1921 46.4 363 -
1931 452 312 -

frfafad ggel & fd s & e gie ) @ s

s a9 @ | gg ¥ | vafF g @
1901 | 492 42.6 -
1911 | 48.1 472 -
1921 | 46.4 36.3 -
1931 | 452 31.2 -

28 Explain the role played by demographic factors in the development of a country. 4

frel 2o & faem o SoifemE & e B ey |
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29 Classify the following countries into :

(a) Low Human Development,

(b) Medium Human Development and

(c) High Human Development

on the basis of the following :

Country Human Development Index Group
Nepal 0.499 -
Sri Lanka 0.730 -
India 0.590 -
Singapore 0.884 -

frfafad & enar w frfafad dom @t

(a) ™= #ma fTaem

(b) wew "Mg faw@ g

(c) == AFa fawm # wiiga @i -

9T 9 [ qah THE
BLIG] 0.499 _
Aretent 0.730 -
A 0.590 ;
R 0.884 -
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30 'Today people are more environment conscious.' Give arguments in supporting 4

the statement with the help of relevant examples from your daily life.

‘SIS W YATEROl o 9 W offYe "ud £ SN dfe Siad 9 geud Seredel
® GEEAl 9 3 YT & ouds H de A |

31 What is the inter-relationship between Production, Consumption and Investment ? 6

Explain.

IAES, IUAT quT a9 § w eradEry ¥ 7 9usEy |

32 How in any three ways do sellers attract buyers in a market ? Explain. 6

fepdll SoTR # feshan sharell bl fRl AW Tl § %d ST6RIT hid € 7 g9y

33 Explain any three main factors responsible for widespread unemployment in India. 6

aRa § fyomd e & T Sterdl Rl AR Bl Bl e sy |

34 What is the impact of Environment on economic development ? State the impact of 6

economic development on environment.

e faehrd WX qaiERer & w1 U9E TSl & ¢ qEiERe ¥ oY e & ueE
® Sei@ BN |
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